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5. Use algebra tiles to model each sum of
binomials, Record your answer symbaolically.
a) (5g + 3) + (2¢ + 4)
b) (3 — 2j) + (—4 + 2j)
qQ (p+ 1)+ (50— 6)
d) (7 + 4m) + (—=5m + 4)

6. Add these polynomials. Visualize algebra
tiles if it helps.

a) 2x 4 by) 3x? + 5x

+3x—5 + —2x7 — 8x

o) It + 5+ 7
b —8x*—3x+5

binomials, Record your answer symbolically.
) (5g+)+(2g+07g+7
MB3=25+(-4+2 =1
Qlp+1)+(5p-6) ép 5
DT+dm)*(=5m+4) —m + 11

@ 6. Add these polynomials. Visualize algebra

tiles if it helps.

N Ix+4 b) I + 5x
+3x-5 + = - 8x
5x—1 x? — 3x

] I +5x+7
# =80 =W+ 5

= —Sxd 4 e 12, .
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Apply

8. Use a personal strategy to add.
a) (6x + 3) + (3x + 4) @xniy
B (Sb—4)+(26+9) 7b+ 5
Q- +(-3-
Q(-n+7)+B3n-2)2n+ 5
o) (~4s=5)+ (6~
n(1=7h)+(=7h=1) —14h
gl (8m + 4) + (=9 + 3mfH=FID
Ni-Bm—=4)+(9-3m -1 Im+ 5

"53*3



9. Add. Which strategy did you use each time?

a) (4m> + 4m — 5) + (2m* — 2m + 1) 9.a) 6m? + 2m — 4
2 b) —6k + 4

b) (3k* — 3k + 2) + (—3k* — 3k + 2) oo

t}(—?p—})-l-{pl«i-S] d) 312+ 9

d) (9 — 30 + (9t + 312 — 61) o) 52— 2x+7

e) (32 — 2x + 3) + (22 + 4) fl —3x2 - x+ 13

f) (3x* — 7x + 5) + (6x — 6x° + 8) “h}—2r2+r+6

g) (6 — 7x + x) + (6x — 6x° + 10)
by (1 = 3r+ ) + (4r + 5 = 3%



2n+i
245 a) i) (2n+1)+(n+5)+(2n+ 5)=5n+ 11

i) Tre2 i) (7r+2)+(7r+2)+ (7r+2)+ (7r+2)=28r+ 8

; iii) (6f+ 5) + (2t+ 1) + (6t+ 5) + (2t+ 1) =161+ 12

iv) (BF+ 1)+ (F+2)+ (3fF+ 1)+ (F+2)=8f+ 6
i) 6t+5
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Ad ing

. Hhe /.
0" = opps
51749

1. Remove the brackets

2. Group like terms
3. Simplify
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(‘3"1 #x -33Q> - (87(2 -3+ ég°)
3538 - by
“x-8¢*-3yP ~ by TOx+ 3y
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A student subtracted

(2x2 + 5x + 10) — (x* — 3) like this:

x>+ S+ \0) - <" -3)

9t rsx+ 10-%+3

=,¢z+h:*‘lo
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The perimeter of each polygon is given.
Determine each unknown length.

a) ow + 14 -
| 2w+ 3 P= LWH‘"

et Fax A

y w‘t(,) + j{‘




@y?' - *5)4-("8}1)-/0> - (/0,\:2 $5-18)



Homework ™ Page 235
7 [a, C]

8 ALL!
12 [a, b]
13 [b, c, d
15 [a, c, €]
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